1-1.7 8B

(1) RLBERDDHEH

1
y=— (x#0)
x

-1 |
-2 L H
-3 | |

-4 F |

- : . . L

§=1/x I

-5 -4 -3 -2 -1 [} 1 2

(2) PEEBEEDIALITIZE
RD 2 OPATHREIOFEATT, HICBHZELELX I,

1
y:;+1 (yﬁﬂiﬁ@)




1
y:x+—]+1 ( x Ul )

1
yHE Y= — +1
ARy O IES NS L £, (XIZH8)

1
XEAE y=——

x—1

EED3y WOIETTAICEE L £ 7,

Y T ——

5
al
3 -
s L
1k
e —_—
T -
b \
\
—2 - .]lll
|II
-3 |
Ll |
-5 1 L 1 1 I \ 1
-5 -4 -3 =2 -1 8
HEt y= + 1
x—

xWhe yhomGIcBHL £,




-3

-4

-5

y=141/(x-1) ——

-5 -4 -3 =2 -1 )

@) X o +1 EERTBIR

x—1

TT2ITEEE D HEIICICT S

—— +b £EBWVT
X

7 = a+b(x—1) _ ax+(a—-Db)

x+ 1 x+ 1

I EFAD T2 LT, HEXE LTRIZY 5121

(XBED LI BMETHKILT B121F)
b=1 72> a-b=0




(4) —RDODEEE
S R R

— RO BBAB L )

cx+d
ax+b

(ax+b#0, a#0)

+6 EVEITS
ax+b




